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Monthly averaged wind velocity by MF radar at Tromsoe for May 2008

o
o

t

&
S

(&)
o o
o T

mean sigma = 20.005

20

o

a o
o O

- %

-50 *
-100 3
4 8 12 16 20 0

mean sigma = 21.150
100 F El
50 E

o

O EHI I Mty f 2 W AR St N IR - V-1 3

-50F E

-100E E

0 4 8 12 16 20 0
mean sigma = 20.982

100F ]

50 =

50 E
-100E E
0 4 8 12 16 20 0
mean sigma = 21.611
100F ]
50 =
R T N Tt TP e 8
50 E
-100E E|
0 4 8 12 16 20 0
mean sigma = 21.037
100F ]
50 E
o A
-50F
-100E
0 4 8 12 16 20 0
mean sigma = 19.687
100 F E
50 3
50 E
-100E E
0 4 8 12 16 20 0
mean sigma = 14.893
100 F E
50 =
of 1
50
-100E
0 4 8 12 16 20 0

103km

100km

97km

94km

91km

88km

85km

82km
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